2ATE2NI NAVOR VIJAKOY o™
TL2500

71/ RIN

G H | J K L ¢ M N )
Iltem Description Torque ¢ Nm) Standard

A Handlebar fixing bolt 10 M6x40

B Rear shock absorber fixing bolt 28-32 M8x55

(o} Rear brake disc fixing bolt 10 M6x12

D 48T sprocket fixing bolt 28-32 M8x20

E Seat bolt fixing bolt 28-32 M8x25

E Front fork fixing bolt 10 M6x20

G Front brake disc fixing bolt 10 M5x12

H Front wheel axle 15 M14x1.5%173
| Brake clipper fixing bolt 10 M6x40

J Motor left side fixing bolt 28-32 M8x30

K Rear fork axle 45-55 M10x1x220
L Rear wheel axle 50-60 M12x1.25x203
M Motor right side fixing bolt 28-32 M8x20

N Controller fixing bolt 28-32 M8x25

o} Front wheel axle set bolt 10 M6x%20

SPODNJA SENICA 20: 1215 MEDVODE:

GREEN MOBILITY D.0.0. SLOVENIJA

INFO@GREENMOBILITY.SI
+386 (0)64 264 264




